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Note :— This paper contains fifty (50) multiple-choice questions, each question

carrying two (2) marks. Attempt all the questions.

M8 -2 uswnl v (40) sgRselld uad B, e3s wan A(2) o

1.

8. 64l Nadidl GdR 2.
The Vice-President of India may be removed from his office :

(A) by a resolution of the Council of States passed by a majority of the
- members present and voting

(B) Dby a resolution of the Council of States passed by a majority of all
the then members of the Council

© by a resolution of the Council of States passed by a majority of all
the then members of the Council and agreed to by the House of People

(D) None of the above ‘
UL GU-ZUEA Adtt 2R 3] A g2 53 wsy ?

(A) ABLAHL a1% W] Hdeldi oudt el © Qar el oigulall v
s 2dal stal '

(B) ALUAGUAL 68l % yoi{l oigMellell WA sumi 2uden sual

(C) RABUAMIAL . avidril oial o Aedl-l oigudlell Y sami wudar sadl
3 31 dlsaeua ol 2l @

(D) Guq siS «dl
Fundamental right to property under Article 31 was deleted by :

(A) 24th Amendment (B) 42nd Amendment

(C) 43rd Amendment (D) 44th Amendment :
ANPWe—-31 wradell Piesd YAAqU YAKA HARKHI oo el Aole
SAUNL 2ue)] B :

A) L yare | C(B) ¥HL il

(©) w34l Yl (D) ¥yl yarruel

Law—II 3 P.T.O.



3.‘ | Right to Privacy is a :

A
®B)
Y,
D)

Constitutional Right only

.Fundamental Right under Article 19(1) (d)

Fundamental Right under Article 21
Fundamental nght under both Artlcle 19(1) (d) and Article 21

ASe g WAl su ws-Al RS B ¢

A4
(B)
©
D)

Wal ey AR5

wg2Be—-1¢(1) (8) 2ad yaoyd uRsR

AYGWe—1 Al Haofd RS2

pBe-1¢(2) (8) 210 wgWe—21 wad yaod RS2

4. Which of the following statements is incorrect ?

A)

(B)

- (©

)

No citizen of India shall accept any title from any foreign state without
the consent of the President of India

No person who is not a citizen of India shall, while he holds any office
of profit under the state, shall accept any title from any foreign state
without the consent of the President of India

No title, not bemg a military or academic distinction, shall be conferred
by the state , :

No person holding any office of profit under the state shall accept any

present or emolument from any forelgn state w1thout the consent of the
- President of India

A A4l 4 R 2w el ?

(A)

(B)

©

D)

Law—I1

eldq Ayl AxlQ Ao l%tcuq Ll siSue etRs Rl il
dasiot 1t w3 Al

oL Ul AUl Ay Ry, oudedl AwRilRs 4 Sl adl 3,

3% AU 50 AIGEIUSs SlEl QAL S A QR urll Sasiol sl

“usQ Al

AP a5 3 Aals uRew R Sasor 2yl wsd «Adl

AUl AUl A3 Anewr Ra, SiSue Al 3 ¥ U 50 AIEIds

Slel aadl <, A BRAl urd dredl Az 3 w3y wWlsidl wsd dl
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5. Article 368 lays down the power and procedure for the amendment of the
constitution but : -
(A) Fundamental Rights cannot be amended
(B) Directive Pﬁnciples of State Policy cannot be amended
l (C) Article 368 cannot be amended '
(D) None of the above
GB35 ¢ oM YL sl Al w1 Al 31414&[?141 °&0lcuz$ 528
uig :
(A) Haoid RS YL - ag at%
B) Awu-w wleds Rugiding yal « af ay
(C) ABe—35¢ Yl wsy Al
D) Guag S @y usg -l |
. 6. The right to freedom of conscience and freedom to profess, practice and propagate
A any religion granted under Article 25 of the Constitution is :
(A) an absolute right
(B) subject to public order
L (C) subject to public order, morality and health
(D) subject to public order, morality and health and to the other provisions
of the Constitution
SELRAAL AP 880 VU ety a»v?t :‘:l.iS"{'é’l m{g YR Q»H
HALR 3'~Z°|.|.';L 2¢lld‘>‘{
A) Ayel es5 &
B) 28 Yasuld 2wl WA ©
(© 82 ydsuily, ARMcl 210 e 2ufdq 8
D) A8 yasuil, Axw R ARA AU Rl ol iy Ao i

| A 8

7. Legislation was subordinate to custom., This view was expressed by :
A) Salmond (B) Savigny
(C) Grotius D) Austin

= (Al 3efl sl :@3ug siuslg Geota A4 B, 2 RAR N HRHLAS
syl ‘
(A) ABiS : | B) Al

(C) R | (D) tiRen

Law—II : 5 P.T.O.
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| R

- Who defined Jurisprudence as “Science of the First Principles of Civil Law” ?

8.
(A) Austin ' (B) Dr. Jenks
(C) Salmond (D) Holland
“lARfBsiua Badl sueii xam Riglad Raid &7 adl e g8 20 -
@A) »iRed B) Sl ¥su
(©) WHs (D) eldss _
The jurists of analytical school consider that the most important aspect of
law is :
(A) its relation to the subjects
(B) its relation with the society
(C) its relation with the custom _
(D) its relation with the state , *
Raeaal stueiaiRotdl “UuReiA Hd W8 slueld Hecad Wy ¢
(A) asil ~waLfst - Aol 8
(B) drll A WA RfviEl &
© -t 3B wA-u Aelal B k
D) Q- AXA WAL A6idl &
10.  Philosophical School of Jurisprudence is also known as :
(A) Metaphysical School (B) Law of Nature School
(C) Ethical School (D) All of these f
edlraRal dell sreluRan o d 3 vl wd 8 |
@A) Aasbisa Raael (Rye) @ ARBs sued Ruyel |
(©) ~llaut @all [Qaia:el D) 2wddi aal »
11. A custom in order to be recognised as law by the court must consist of :
(A) Antiquity (B) Reasonableness '
(C) Conformity with statute law (D). All of these
seldad 3R staetl Hrddl sudl auid, 3RHL (AL suL dedld Ml &
A .
A) Alsiléan B) uwollug
(C) [aau- wa-l 21534t (D) i sEi o

Law—I1 6



12. Imperfeet right means :
(A) Rights which are not accrued
(B) A right without remedy
(C) A remedy without right
(D) Rights which are not enforceable
wyel v ded 3 :
(A) dal ARSI ¥4l Geora Al 2ul

- (B) Guy adr-l wfAsR

(©) »AsiR—adr-l Guy
(D) Aal ARSI Fl »nd 4F wscdl Al

13. A co‘ntract becomes impossible to perform if :
(A) The goods are not availdble in the market
(B) Workers are on strike
(C) Subject-matter was destroyed at the time of contract
(D) Raw material is not supplied'
5AG WA 523G wASY oA § A ¢
(A) GAWM W 1% A ¢id dl
(B) SIMELRL ¢Sl BUR Sl
(©) sl RMuagl s s3dl aud -y adl
(D) sunia-l yas - Haael

i 14. In case of breach of contract damages are payable to :

- T e

(A) Punish a person for breach of contract

(B) Compensate the person for special losses

(C) Put the parties in a situation as if contract is not broken

(D) None of the above ' '

SR gl and ysaai 2pd 8 s 3

(A) UL 5. AlBdA A sl W2

(B) @l udal RRre AU WS s

(O) WA F s wul % Al Al WRRuRMI fanru HESIRIA Yo HR
D) Gu A4 A4S ALl '

Law—II ' 7 P.T.O.



15.

16..

17.

~ Which one of the following statement is the correct answer with regard to

“an agreement the meaning of which is neither certain nor is capable of being
made certain” ? |

(A) Agreement is illeéal (B) Agreement is void

(C) Agreement is valid (D) Agreement is voidable

“anodl 3 oael v wAssA Sl vl AssA ol wsE AW L S’ Ael
Aeolui A A 3 e wy B -

A) undl sl & - B) unydl wd ®

© auydl v & D) Wiyl ud yaqd wa

In order to render a contract void on the plea of ‘mistake’ :

(A) The mistake may be of law or of féc,t

(B) Only one of the parties must be un/der mistake

(C) The mistake should be one of fact and not of law

(D) The mistake should be one of law and not of fact

o deelul s A s w2 o

A) od stueidl 3 ehlsa-dl Sidl AsA

B) wasidl U5l As o vasi-l o

(€) o 88lsarl il ASH, Al ¥ siuei-l

D) oja sieldl il ASA, Adl 3 ¢flsasl

The leading authority on “an agreement ‘with minor is void” is :

(A) _Nash Vs. Inman |
(B) Mohir Bibi Vs, Dharamdas Ghosh
(C) Carlil Vs. Carbolic Smoke Ball Co.

- (D) Gobindram Vs. Piranditta

Wl wddl 52 2l B A @dtdl wecarll YsEl 4l B
A -uy @, S

(B) iR oflefl [, w1 &y

© s:ella Q. siollfus Bis ol g

(D) aubicz @, ML

Law—II '8



18.

19.

20.

21.

In Ind1a decisions about frustration of contract are based on :

(A) The theory of implied term

(B) The theory of just and reasonable solution

(C) Principle of equity

(D) Supervening impossibility or illegality as per section 56 of the Indian
Contract Act

ouddl s Frsudl videy Rl -y A4 i GyR 28R & :

Q) Aafdd yal Rgid

. (B) Al A el Giadl Rigid

©) -l Rugia.
@) eudld s WAl san us yao, wwonell usy xU NSEZAR g
s

‘Vis Major’ means :

(A) Act of God (B) A major vice

(C) The main ground for action D) None of these

‘fla Ao’ »eqd

A) S s B) s Hg gua

(C) Wl Qal Wed Yoy s D) 2ulai 4 SSuR -l
Law of Torts developed mainly : _ ’
(A) Through enactments (B) Through customs

(C) Through judicial decisions - (D) None of these
HUGAAL SlUELl Q51U WAL A qul §

(A) usidal siyeiel B) 3l

(C) ~wls ysielviigl - D) »2wlai 44 mSw [

Mens rea, motive and intention :
(A) must be always established to succeed in a suit for tort

(B) are irrelevant in most of the torts -

(C) are irrelevant in all claims for tort

(D) have subsidiary role in torts

Arslldd HiA, &g A Sl

(A) UL ElUML UsA Aql WA saL 43
(B) M2l uuzgqm A B

(€©) 2ugearit e3s slarll eleni wudd ©

D) 2USHHL U He z»usg &

Law—II 9 - P.TO.



22.

- 23.

24.

25.

Tort means : .
(A) a wrong (B) a legal wrong

(C) a legal civil wrong (D) None of these
dugd Hed : .
A) A5 vig (s B) As stgell A wig s

© s sl A Badl W s1 @) wdanidl fdwa +dl
Volenti non fit injuria is :

(A) a specific tort

(B) knowledge of the wrong

(C) a defence in tortious action

(D) a general defence in contract

Qun 1lsidl widl A

@A) Rk 2ugu 8

(B) ugcurt aut-l ouoid &

(©) dugyd sifell Vi saag sike 8
D) UL GUasy AU 6 ©

Tortious liability arises because of :

(A) Malicious Intention (B) Criminal motive
- (C) Breach of a legal duty (D) Breach of a contractual duty
AYgAUTA FAUEl] GuRad g s ¢ o
(A) aMysd Sl A - (B) ywsilRd &g
©) sl s+l efol D) $UWU §AAAL ¢{9L

In case of offence of Dowry death such death should have occurred within
years of her marriage.

A 5 ®) 7

© 10 D) 12

gdogeil S1Q Yoy Ade iy, Al Y g Yoy @ Ul ay g3
adg <lg AA :

A B ©

(C) 10 » O 1R

Law—1II o 10



26.

27.

28. -

29.

Criminal conspiracy requires at least............... persons.

(A) one (B) two or more

(C) two (D) any number of persons
IsllBel steltini vl wiiedl 32ell Uldil il *3 & -

A) s - (B) A wual aul

©) & @) A q Avail Al

Sometimes & person himself does not commit an offence. He helps or aids
another person in committing an offence. But then he is guilty of :

(A) Conspiracy (B) Abeg¢ment

(C) Incitement _ (D) None of these

32dls cuid 43 WA IYrsl el dldl wel. A ol ABAA el s Hee3y
Wy 8. uig A4 sl A A 4 sl el 53 B

(A) $193 $39 o ®B) (rumi) Hesou sl

(© (@l s2a) 63wl 53l ) wdai A SSue ]

Who of these cannot be held criminally liable ?

(A) A child between 7 and 13 years of age

B) A firm

(C) A company

(D) President of India

Al UL 5§ ABaA siwei] gassldl 2 waeelz sudl usy R ?
@) Addl-Ax addl 9] Gy suns

(B) Wl

(€) su-l

D) SURd-L U@

According to section 84 of IPC an insane person must be incapable of knowing :
(A) Nature of the act - (B) The act was contrary to law
(C) The act was wrong (D) All of these |

sudla slweidl wudl san ¢y wud ol it 1A 4 56 ouoid
W2 Y O : - |
(A) -l US54 B QA (B) 4u sluel Rgd sd
(€) §4 A ugd &g ®) 2uldi U4 omi o

Law—II 11 P.T.O.



30.

31.

32

33..

A is liable for the offence of criminal attempt when :

(A) A purchases poison to give it to B

(B) A gives a cup of tea mixed with sugar to B, thinking it to be dangerous
“poison

(C) A desires to give poison to his servant. to mix it in tea to be given
to B

D A mlxes poison in the tea and places it on the table to be taken by B

‘W JYril SALAL MUl HIZ FellolElR B FULR

@A) ‘o’ A I vuyal W2 Il wAel sl

@) ‘o, ‘o’ A vis SoueQlA Al su 2wl R ¥ A ﬁwastz& I
8 A | |

(©) ‘¥’ Wldirll s WA, ‘o’ A4 I dAadla Ayl 2yl Suol usd 52

@) ‘A, AL sUHi I Aadld sy 20d GuR 33 3 ¥ ‘o) daunil gla

Who, according to the natural law, is the maker of international law ?

(A) God or Nature (B) Human beings

(C) States (D) None of these

AuRls siuel Yoo vid AN slueldl asddl s & ?

Q) S vaql ged (B) Ul

(©) el D el U4 sisua Al
Decisions of the International Court of Justice are of binding force :
(A) For the parties only (B) For all the states of the world

(C) For all the members of the U.N.O. (D) For (A) and (B) only
Aid UL U velddAl Feldl st siadasdl sl e ?

(A) el vaLsLin (B) RAsart sl AU
(C) 4. ArL.3ll, ~ll sar ¥odiA D) et AN ARUdE (A) 247 (B) 1
‘Recognition’ is necessary :

(A) For establishing mutual relationship

(B) For seeking approval of other states ;

(C) For seeking help of other states for acquiring statehood
(D) None of the above

Hiegdl” A W2 #3309 7

(A) Uil YRR Asig RMd saL W2

B) ol UL M=l Aaal 2

(©) Al £ W saL W2 ollog ol Hee Aaaal
M) Guau Ul siSua «dl

Law—II 12



34. Permanent Court of Arbitration :
(A) Does not exist today
(B) Does exist today
(C) Exists as one of the organs of the UNO
(D) Exists as part of the ICJ s
dadte 9 sl Aneiad ¢
A) siadl vRdaHi w2l
B) sladl >RdaUi 8
© 3R Al As 20 d3 wWRAUl §
D) AWM 1Y velddril As ool dd 1RdaH] 8
35.  Can the Security Council or the General Assembly become a party to a dispute
between themselves and the States ?
(A) They can
(B) They cannot _
(C) They can when the states agree to their being a party
(D) They can when the ICJ permits them
9 Hatild AR a0y wedt, Al 2R o) 422 Rl asiz
af ad ?
(A) 4 3
B) - ag
©) a8 43 A B AU uasLR ottty elsLd ol
D) A a0 -l Aeiad Hyl A dl
36, The term ‘Hindu’ used in the Hindu Marriage Act, 1955 includes all except one :
(A) Sikhs (B) Jains
(C) Buddhists "~ (D) Parsis
e AL (B @ wand ‘Rg’ ucel Gudiol udl & Axi s Ry sau
AU Y 8 ? -

A) v B) ¥+
(€) sle D) w3l

37.  When can Muslim wife re-marry after divorce ?
(4) Can re-marry immediately
(B) Shall have to wait till the period of Iddat is over
(C) Shall have to wait for one year
(D) None of the above ’
Wellu yedl egaidst uedl ofly @on sl 570 93 ?
A) ollx 4o dd ¥ s U
B) Sga-l A4y YU Ay Al U Aul wgdl
©) s a ¥l A Al v
@) Guryg si awy usg -l ,
Law—II 13 P.T.O.



38.

39.

40.

41.

42,

The ’minimum age of marriage for the boy is....occenennn years and for the girl

- T years ,

(A) 18, 21 ®) 21, 18

(C) 18, 18 . @) 21,21

ad M2 sl agan G ........ ad »A $isA ... ay & :
A) 1¢, 1 B) 1, ¢

€) ¢, ¢ @) W1, W

When a Muslim husband and wife mutually consent to a divorce, it is known
as ?

(A) Talaq j (B) Khula

(C) Mubarat (D) None of these

) el R oA el eidst W2 Asellon W And WA dl aAx
(A) aedls B) “dl

(€) Houd. (D) 2wlai U4 sisu ALl

A marriage between an unmarried woman and a married man is :
(A) Void (B) Voidable ’
(C) Irregular - (D) None of these

YRR w1 2 WRRA YN QA @or @

Aa) o (B) e A Wt

© R (D) 2wal WA sidye «dl
Ceremonies of marriage are not necessary under :@

(A) The Hindu Marriage Act (B) The Muslim Law

(C) The Parsi Law (D) The Special Marriage Act
53l a0 @ Al AR w3Rud Al ?

@A) [Bg arlanus aul B) weln al
(C) WAL s1uel ) R[S @ wal
Under section 25 FFA of the Industrial Disputes Act 1947 employer shall
serve at least................ days notice before the intended closure is to become
effective.

" (A) 10 - (B) 20
(C) 60 D) 90
1w Al 2eilBls aldl sau Y FFA, »wad ufasia (3au01 o{y sl
Yddy/Gello 6ie sl AL WSl U8El ......i.....s - Raudl AiRx 2uudl
ASA : ,
(4) 10 (B) 0
(C) so ' D) ¢«o

Law—II 14



43. Under section 22 (Chapter V) of the Industrial DiSputes Act, 1947, no
person employed in a public utility service shall go on strike in breach of
contract :

(A) without giving to the employer notice of strike within six weeks before

~ striking, or. ' B

(B) within 30 days of giving such notice, or

(C) before the expiry of the date of notice as mentioned in (B) above, or

(D) during the pendenéy of any conciliation proceedings before a conciliation
office and ten days after the conclusion of conciliation proceedings

1Yo - ells Rae sl san 22 (uled—via) W, sifua Al

5 0oL SN U GuEl A DA 5§ Udd W syl R ssaa

wsl asd «ul : ,. ‘.

(A) ssdld wsalAl Seidl s iRy UL §9 MSUSIUUL 8Scled yis
Al , |

B) 2udl -ifA il 30 Rauui esdid wsdl <4l

(©) Gulsd (B) wi eulda AR dwlvin viq uda) SScle Wl il

@) wuat A0 WA wnadd sfadl g Gy A s w1 sidaid]
YR1 Uil e Rausi esdid wgl wstd Aol

44.  Under the Industrial Disputes Act, 1947 no employer carrying on any public

‘utility service shall lock out within :

(A) 7 days ' (B) 14 days

(C) 15 days | (D) 30 days

10 -l »ileilfis Raie wl s N3 Gyl A sde Ry - ui
(als 2u62) diueid] $31 usd «dl :

A) 9 [gay B 1y [Ran

(O N Rax | @) 30 [zau

45.  Jurisprudence is concerned with the analysis of :

- (A) Philosophy . (B) Legal Theories
© Legal Concepts (D) Customary Rules
EILIET TR R 4 YASSAA saL WA 2ol ¢
(A) edaat (B) stvil Qa0
(€) sl vyue) M) 3Rod AR

Law—II ‘ 15 P.T.O.



46.

47.

48.

49.

50.

(A) January 26, 1948

Whose definition of International Law pre-supposes that states constitute a
society and that this society has a legal system, International Law or Law
of Nations ?

(A) Oppenheim (B) J. L. Brierly

(C) Torsten Grik ' (D) W. Friedman -

A AN s1ael AL si-l cwvul g ydutguud 52 89 3 XA -l kL

53 D 217 20 AL Sl Rl i © F AU SIUEL viadl AL
sidel sl 20d O -

(A) UASH - (B) %.2d. ollurdl

(€) 2ieq Al - (D) soey. (B

The Constitution of India came inte force from :

(B) 15th August 1947

(C) January 26, 1950 (D) 15th August 1950

ol et 58 dtlvell 2nani 2ue ?

(A) AP RS, 1ewe (B) 14 AP 1e¥9

(C) Ay S, 10 D) A4 e U0

Which of the following is not a ground of void marriage under section 11
of the Hindu Marriage Act ?

(A) Bigamy A (B) Degrees of Prohibited relationship
* (C) Sapinda relationship (D) None of these

QAamizl sy s, Rg aod aril san—11 3l o aomg s < :

A) eguclla - B) ulaeildd Aeig

(©) ufis Asia o D) 2udal 59 s18 sl

- ‘A’ is a Hindu female aged about 24 years. ‘A’ adopted a boy of 12 years old.

The adoption is :

(A) Valid (B) Void

(C) Against Public Policy (D) Voidable

¢ adell a Al Rg 209 tus Qamui s a3 adqi oisud eus dlal
w, e [Qald @3 34 O ¢ )

A) uud B) ad

© s -llla [@3ed O ad aqd Wt

A l_eading case on the mental cruelty is :

(A) Russel Vs. Russel , (B) Dastane Vs. Dastane
(C) William Vs. William (D) Collins Vs. Collins
WAl Sl suoldHi Mecanl ysiel sul

A) Wa [, Wa (B) elkdA [A. sldq
© R[luy [@. [_dlayy ) sifa-u Q. sila

Law—II 16
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